Trillium HOA Approved Mailbox and Mounting Post

Pictured above are the HOA approved mailbox and mounting post. The management company
maintains a limited stock of mailboxes and mounting posts for purchase by homeowners. The
mailbox and mounting post can be purchased as a set or separately as needed. The items are also
available at The Home Depot (in the store and online).

Links to the mailbox and mounting post product pages on The Home Depot website:

o 1812 Architectural Plastic Mailbox in Black - N1027183

e Callaway Adjustable Mailbox Post in Black - CPO00B00

Mailbox Information
e Brochure
¢ Instructions

Mounting Post Information
e Brochure

o Instructions


https://www.homedepot.com/p/Postal-Products-Unlimited-1812-Architectural-Plastic-Mailbox-in-Black-N1027183/100664833
https://www.homedepot.com/p/Gibraltar-Mailboxes-Callaway-Adjustable-Mailbox-Post-in-Black-CP000B00/300200044

Postal Products Unlimited 1812 Architectural Plastic Mailbox in Black-N1027183 - The Home Depot
Model # N1027183 Internet #100664833

Postal Products Unlimited
1812 Architectural Plastic Mailbox in Black

Product Overview

The Postal Products Unlimited 1812 Architectural Plastic Black Mailbox is an attractive,
decorative mailbox featuring a large-capacity, weather-proof design for maximum leak

protection. Its sturdy polyethylene construction with a UV-resistant polymer blend helps
keeps the color from fading.

Single black plastic mailbox with red flag and attractive
design Polyethylene construction is UV resistant, weather
proof and leak-proof Large capacity with detailed roof and
decorative door

Specifications

Dimensions
Assembled Depth: 22 in
Assembled Height: 15in
Assembled Width: 9.5 in

Details
Access Type: Front Only
Assembly Required: Yes
Color: Black
Color Family: Blacks
Features: Leak Protected

Hardware Finish Family:
Black

Included: Mailbox

Mailbox Capacity: 500 cu. In.
Mailbox Size: Medium
Mailbox Style: C1

Warranty / Certifications
Manufacturer Warranty: 1 Year
U.S. Postmaster General Approved: Yes



Congratulations on
Your Purchase of an
1812 Series Mailbox

The following hardware has been included for:
1. Easy installation of your mailbox to a post using our Universal Mounting Bracket (included)

2. Attachment of Flag to your mailbox

Please take a minute to verify the following components have been included in
your assembly hardware Kit:

* (4() '/+- 20 x 1.25" Phillips Bolts (a)
* (4) '/+ - 20 Flange Nuts (b)

* (4) #8 x 1" Phillips Screws (c)

* (1) '/a- 20 x 1" Phillips Bolt (d)

* (1) Universal Mounting Bracket (e)
* (1) Red Mailbox Flag (f)

* (1) Plastic Flag Holder (g)

¢ Installation and Assembly Instructions

Tools required for assembly (not included):
e Phillips Screw Driver

If you are missing any components from your assembly hardware kit, please
contact customer service at 1-800-229-4500.

INS-135-REV 1 Page 1 of 4



Nota de Instalacion del Servicio Postal de Los Estados
Unidos:

CLIENTES SON REQUERIDOS EN CONTACTAR LA OFICINA DE SU LOCALIDAD ANTES DE
INSTALAR SU BUZON PARA ASEGURARSE DE HACERLO EN EL LUGARY ALTURA CORRECTA.
NORMALMENTE LOS BUZONES SON INSTALADOS A UNA ALTURA ENTRE 41"Y 45" PULGADAS
DESDE LA SUPERFICIE DEL PISO HASTA NIVEL DE ENTRADA DE SU CORRESPONDENCIAY
SON UBICADOS ENTRE 6"Y 8" PULGADAS DE LA ORILLA DEL CAMINO A LA PUERTA DEL
BUZON.

El producto no es libre de mantenimiento

En cuanto a los productos de acero basada en: Grietas en la pintura, la sal, la sal del camino, y el
exceso de rayos UV puede causar corrosion o deterioro de los tubos, rollos, soportes u otros elemen-
tos.

Componets una mayor vida util estan disponibles (acero inoxidable), pero son una compra por separa-
do. Sin embargo, el sol, el clima, los productos quimicos por carretera, etc, todavia afectan adversley
plastico, acabado y materiales de los componentes de mayor duracion.

Es responsabilidad del purcheser de verificar regularmente el sistema de buzén para el deterioro de
los componentes, hardware acabados. Tratar de productos o reemplazar los componentes de inmedia-
to al darse cuenta de deterioro o dano. Todos los componentes estan disponibles para la venta directa
de fabrica o del distribuidor autorizado.

Las superficies con corrosion puede ser tratada con pintura la inhibicion de la oxidacion. La corrosion
se debe quitar con lana de acero y la superficie tratada antes de pintar.

Vuelva a colocar el hardware al terminar se deteriora. Hardware puede ser tratado con un spray de sili-
cona o lubricante para combatir los problemas corresion. Componentes de hardware y que no se
sustituyen cuando el deterioro se produce puede causar decoloracion oxidational adicionales de otros
componentes.

Uno Ano Limite de Garantia

ICM CORPORATION Garantiza su Buzdn contra defectos de fabricacion por un periodo de 1 afio a
partir de la fecha de compra.

En caso de que su Buzdn sufra algun desperfecto por defecto de fabricacion, dentro del periodo de 1
anos a partir de la fecha de compra, la compania reparara o reemplazara su Buzon dentro de 45 dias
de recibir su notificacion. Todo esto a discrecion de la compania.

El Buzén y recibo de compra tendra que ser enviado a ICM Corporation, 500 West Oklahoma Avenue,
Milwaukee, WI 53207, describiendo claramente el defecto.

Esta garantia cubre unicamente defectos originados solamente durante el uso correcto de su Buzdn
dentro de los 1 afo a partir de la fecha original de su compra.

INS-135-REV 1 Pagina 4 de 4



1812 Mailbox Installation Instructions

For Top Mount
Installation

Locate:

¢ Universal Mounting Bracket

* (4) '/« - 20 x 1.25"L Phillips Bolts
* (4) '/s - 20 x Flange Nuts

* (4) #8 x 1" Phillips Screws

Fasten Universal Mounting Bracket
to post with (4) #8 x 1" Phillips Screws.

L=

|
T 9\

Align pre-drilled holes in bottom of mailbox with

matching 4 holes in Universal Mounting Bracket.

Complete installation by inserting
(4) /+ - 20 x 1.25"L Phillips Bolts through
4 pre-drilled holes inside mailbox and

matching 4 holes in Universal Mounting Bracket.

Using the (4) Flange Nuts securely tighten bolts
and mailbox to Universal Mounting Bracket.

INS-135-REV 1

For Cross Arm
Installation

£

Locate:

* Universal Mounting Bracket

* (4) '/« - 20 x 1.25"L Phillips Bolts
* (4) '/s - 20 x Flange Nuts

e (4) #8 x 1" Phillips Screws

N

Fasten Uiversal Mounting Bracket
to post with (4) #8 x 1" Phillips Screws.

]].:;.
Align pre-drilled holes in bottom of mailbox with
matching 4 holes in Universal Mounting Bracket.

Complete installation by inserting
(4) /+ - 20 x 1.25"L Phillips Bolts through
4 pre-drilled holes inside mailbox and
matching 4 holes in Universal Mounting Bracket.
Using the (4) Flange Nuts securely tighten bolts
and mailbox to Universal Mounting Bracket.

Page 2 of 4



Instrucciones Para Ensamblar La Bandera

1. Inserte la Bandera dentro de la ranura del Sosten
de Plastico.

2. Con la Bandera apuntando hacia arriba ensamble
correctamente el Sosten de Plastico de la Bandera
en los (3) agujeros del area de montaje a un lado
del buzon.

3. Coloque el tornillo de cruz % x 20 para sujetar la
Bandera de forma correcta.

4. Atornille la Bandera y Ranura del Sosten de
Plastico usando, % 20 x 1.25 tornillos de cruz.
No apriete demasiado ya que esto dificulta el libre
movimiento de la Bandera.

Pagina 3 de 4



Mailbox Flag Assembly Instructions

1. Insert the Flag into the slot of the Plastic Flag
Holder.

2. With the Flag pointing up, align the three prongs on
the Plastic Flag Holder with the three holes on the
flag mounting area on the mailbox.

3. Align the hole in the Flag with the % - 20 threaded
insert located on the side of the mailbox.

4. Fasten the Flag and Plastic Flag Holder in place
using the % - 20 x 1"L Phillips Bolt. Do not over
tighten bolt as it will inhibit the movement of the
flag.

Page 3 of 4



Instrucciones para Instalar su Buzon 1812

Instalacion para
el Montaje

¢ Placa Universal de
Montaje

*(4)'/s-20x1.25
Tornillos de Cruz

* (4) '/« - 20 Tuercas

* (4) #8 x 1" Tornillos
de Cruz

Fijar Montaje de la Placa Universal al poste con (4)
#8 x 1" Tornillos de Cruz.

Complete la instalacién atornillando la caja al poste
usando los (4) tornillos /2- 20 x 1.25" en los agu-
jeros previamente hechos dentro de la caja y que
coinsiden con los (4) agujeros de la placa universal
use las (4) tuercas y apriete fuertemente para que
el Buzon quede firmemente sujetado a la Placa
Universal.

INS-135-REV 1

Localice lo Siguiente:

Instalacion en
el Brazo de la
Cruz

£

Localice lo Siguiente:

¢ Placa Universal de
Montaje

°(4)':-20x1.25
Tornillos de Cruz

° (4) '/« - 20 Tuercas

° (4) #8 x 1" Tornillos
de Cruz

Fijar Montaje de la Placa Universal al poste con (4)
#8 x 1" Tornillos de Cruz.

R
Complete la instalacion atornillando la caja al poste
usando los (4) tornillos /- 20 x 1.25" en los agu-
jeros previamente hechos dentro de la caja y que
coinsiden con los (4) agujeros de la placa universal
use las (4) tuercas y apriete fuertemente para que
el Buzon quede firmemente sujetado a la Placa
Universal.

Pagina 2 de 4



United States Postal Service Installation Notice:

CUSTOMERS ARE REQUIRED TO CONTACT THE LOCAL POST OFFICE BEFORE INSTALLING A
MAILBOX TO ENSURE IT'S CORRECT PLACEMENT AND HEIGHT AT THE STREET. GENERALLY,
MAILBOXES ARE INSTALLED AT A HEIGHT OF 41"-45" FROM THE ROAD SURFACE TO INSIDE
FLOOR OF THE MAILBOX OR POINT OF MAIL ENTRY (LOCKED DESIGNS) AND ARE SET BACK
6"-8" FROM THE FRONT FACE OF CURB OR ROAD EDGE TO THE MAILBOX DOOR.

MAINTENANCE:

Product is not maintenance free.

Regarding steel-based product: Cracks in the paint, salt spray, road salt, and excessive UV rays could
cause corrosion or deterioration of tubes, scrolls, brackets, etc.

Extended life components are available (stainless steel), but are a separate purchase. However, sun,
weather, road chemicals etc, still adversely affect plastic, finish, and materials of extended life compo-
nents.

It is the purchaser’s responsibility to regularly inspect the mailbox system for deterioration of compo-
nents, finishes or hardware. Treat product or replace components immediately upon noticing deteriora-
tion or damage. All components are available for sale directly from factory or authorized distributor.

Surfaces with corrosion can be treated with rust inhibiting paint. Corrosion should be removed with
steel wool and surface treated before painting.

Replace hardware when finish deteriorates. Hardware can be treated with silicone spray or lubricant to
combat corrosion issues. Hardware and components that are not replaced when deterioration occurs
can cause additional oxidational discoloration of other components.

One Year Limited Warranty

ICM CORPORATION warrants that this mailbox will be free of manufacturer defects for a period of 1
year from date of purchase.

In the event that this mailbox becomes defective within such one year period, the manufacturer, at it's
discretion, will arrange for replacement or repair of the mailbox within 45 days of receipt of the
defective mailbox and proof that the mailbox was purchased within the one year period.

The mailbox and proof of purchase should be sent to ICM Corporation, 500 West Oklahoma Avenue,
Milwaukee, WI 53207, and should describe the nature and extent of the defect.

This warranty is limited to manufacture defects which make the product unusable as a mailbox within 1
year of it's original date of purchase.

INS-135-REV 1 Page 4 of 4



Felicidades por su
Compra del Buzon
1812 Serie!

Lo siguiente ha sido incluido para su Buzén:
1. Instalacién facil de su buzén en el poste usando el Soporte de Montaje.
2. Lo necesario para poner la bandera en su Buzén.

Por favor tome unos minutos para verificar que lo siguiente ha sido incluido en su
paquete:

e (4) '/« - 20 x 1.25" Tornillos de Cruz (a)
® (4) /s - 20 Tuercas (b)

e (4) #8 x 1" Tornillos de Cruz (c)

® (1) '/a- 20 x 1" Tornillo (d)

¢ (1) Soporte de Montaje Universal (e)

¢ (1) Bandera roja para el Buzén (f)

¢ (1) Sosten de plastico para la bandera (g)

¢ |nstrucciones del ensamble.

Herramientas requeridas para el ensamble (no estan incluidas):
¢ Destornillador de cruz

Si le hace falta cualquiera de estos componentes para el ensamble de su Buzoén,
por favor llamar al servicio al cliente al 1-800-229-4500.

INS-135-REV 1 Pagina 1 de 4



Gibraltar Mailboxes Callaway Adjustable Mailbox Post in Black-CP000B00 - The Home Depot
Model # CP000B00 Internet #300200044

Gibraltar Mailboxes
Callaway Adjustable Mailbox Post in Black

Product Overview

The Callaway Adjustable Mailbox Post offers a timeless, classic design for every home.
Designed with quality aluminum material and a steel base plate, this post offers
durability and strength that are built to last. Outside elements are no match for its
beautifully crafted powder coat finish and the pedestal style adds attractive details. This
patent pending post offers versatility, and can be installed by anchoring to a 4 x 4 in.
ground post (not included) or by bolting to a concrete pad for extra stability. The post is
fully adjustable to reach heights between 33 in. to 41 in. tall, and the cast aluminum
mounts can also be adjusted to align parallel or perpendicular to each other. The
Callaway includes all mounting hardware and accommodates medium to extra-large
size mailboxes to fit your needs.

e Supports medium to extra-large size mailboxes

e Powder coated finish provides extended longevity and protection against rust
e Height adjustability offers versatility and customization

e Mounting and installation hardware is included for easy setup

e Aluminum and cast aluminum construction exhibit strength and durability

e Designed for installation on existing concrete pad or over a 4 x 4 post (sold
separately)

e Engineered to support up to 120 Ibs. evenly distributed

e Match with any Gibraltar post-mount mailbox with the designation letter codes A,
B,C,orD

Specifications

Dimensions
Product Depth: 13.59 in
Product Height: 41 in
Product Width: 9.84 in

Details
Accessory Type: Posts
Color: Black
Features: Corrosion Resistant, Decorative, Fade Resistant
Included: Assembly Hardware, Base, Mounting Hardware, Post, Stand
Post Installation Type: Fits Over 4x4, Pedestal



Gibraltar Mailboxes Callaway Adjustable Mailbox Post in Black-CP000B00 - The Home Depot
Model # CP000B00 Internet #300200044

Post Material: Aluminum
Product Weight: 12.4 Ib
Returnable: 90-Day
Weight Capacity 120 Ib
Warranty / Certifications
Manufacturer Warranty: 90 Day Warranty




USE AND CARE INSTRUCTIONS
GIBRALTAR MAILBOXES

Proper Care and Maintenance:

Your mailbox or mailbox accessory will require maintenance to keep its appearance and to extend its useful life. Follow manufacturer’s assembly and installation instructions for
your specific product to ensure warranty coverage and proper use of your product. Failure to follow instruction will void warranty. The frequency and amount of maintenance is
dependent upon the type of weather elements your product is exposed to, the type of finish on your product, and the type of material your product is constructed from. If your
product begins to look dirty or weathered, clean the surface by gently rinsing and removing build up with mild soap and water. Please follow the below care and maintenance
guidelines and refer to your product’s instruction sheet(s) for additional use and care guidelines specific to your product.

Brass Finish

Most mailboxes feature an aluminum handle, latch, flag, and flag components. Some mailboxes and mailbox accessories feature additional brass finished components, as noted
in the product description. The coating will tarnish over time, if not maintained. It is important that proper maintenance is performed periodically, as needed, by cleaning the
surface and applying a coat of high quality car wax. You may also apply a lacquer finish to keep the finish looking new. Addition of paints or finishes is not warranted.

Steel/Paint Finish — Rust Resistant Powder Coat Paint

Our mailboxes are protected by rust resistant powder coat paint. With a minimum amount of maintenance, your mailbox can look like new for a long period of time. Like any
outdoor product made of steel, surface rust may appear over time depending on its placement or environmental conditions. Wipe any surface rust with a steel wool pad and
clean with a damp cloth and household detergent occasionally. Coat your mailbox with a high quality car wax and your mailbox will retain its finish. If necessary, touch up paint
may be required to maintain the mailbox and extend its useful life. Addition of paints or finishes is not warranted.

Wood - Cedar

Our wooden mailbox products are made of cedar. Cedar requires little to no maintenance, due to its inherent properties that make it resistant to rot, decay, and insets. Natural
aging for cedar will occur over time and will differ dependent upon climate. Treatments, paints, stains, and finishes will alter cedar’s natural aging process and you should refer
to care instructions provided with the specific treatment used for further use and care guidelines. Addition of paints or finishes is not warranted.

Polymer/Plastic
Mailboxes and accessories made from polymer or plastic are low maintenance products. Clean product with mild soap and water to remove dirt and build up.

Post Installation
Warning: Check for underground pipes or cables before installing anchor or post.

United States Postal Service Regulations:

Postal patrons are required to contact the local post office before installing the mailbox to ensure its correct placement and height from the street. Generally, mailboxes are
installed at a height of 41-45 inches from the road surface to inside floor of the mailbox and are set back 6-8 inches from the front face of curb or road edge to the mailbox door.
It is important to note that it is not the responsibility of mail carriers to open mailboxes that are locked, accept keys for this purpose, or lock mailboxes after delivery of the mail.
For further assistance, please contact your local U.S. Postal Service facility or carrier.

Customer Service:
Customers should not contact their place of purchase. For customer service regarding warranty or assembly of product, please call 1.800.647.7063 for immediate assistance.

(SOLAR
G20OUUP e

A DIVISION OF

-
GIBRALTAR

INDUSTRIES



	Trillium HOA Approved Mailbox and Mounting Post
	Mailbox — Brochure
	Mailbox — Instructions
	Mounting Post — Brochure
	Mounting Post — Instructions

